DEFENSIVE AND COMPETITIVE BIDDING

OVERCALL(Style; responses; 1/2 level; 4.position)

LEADS AND SIGNALS

4-17 HCP 4+ CARD AT 1 LEVEL LEAD STYLE CONVENTION CARD
5-17 HCP 5+ CARD AT 2 LEVEL LEAD PARTNERS SUIT
TRUMP | 1-3-5 1-3
NT 2-4 1-3 Category SENIOR
LATER | COUNT + ENC,+ | COUNT + ENC. + DIS
DIS ENC.+ PREF. | ENC + PREF Tournement | EBL EUROPEAN CHAMPIONSHIP
INT OVERCALL(2nd POSITION) OTHER Players TURGAY SESYILMAZ / HUSEYIN CESUR

15/18 HCP SYSTEM ON

SMITH ECHO WITH HIGH CARD

SYSTEM SUMMARY

LEADS GENERAL APROACH AND STYLE

Lead Against trump Against NT 2/1: GF
4th POSITION: Ace AX,AKX,AKIX, ARD | AX,AKX,AKxX ARJX Checkback
10-15 HCP; SYSTEM ON King AK, KQTx, KQx, Kx, Kx,AKJxx,RD10xx AGRESSIVE STYLE
JUMP OVERCALLS Q AKQ, Q19x, QIx, Qx, | KQ109,QV,QX,AKQx INT OPENING:14+/18 HCP (5 Card Maj. Possible)
MAY BE TOO WEAK 5+ CARD J JT8x, JTx, Jx, R110x | J10x,KQJx,Jx, AJ10X

10 T97x,T9x, Tx, R109x | 0-1 high cards

9 98X ,9X 0-1 high cards
JUMP OVERCALLS 4th POSITION: SPECIAL BIDDINGS NEEDED DEFENCE
THE SAME I MAJ. —3 CL=6/10 OR 13/14 4 Card Support
DIRECT AND JUMP CUEBID SIGNALS I MAJ. —3 D=10/12 OR 15/16 4 Card Support
DIRECT CUEBID: MICHAELS Partners lead decleran Discards IMAJ. — 2NT = JACOBY (14+ Sing. OR 17+ Balanced)
2CL OVER 1CL = NATURAL; 2D OVER 1C= MAJORS trump 1. | COUNT COUNT STD IMAJ. — INT = Semi — Forc. (Max. 12 Hcp)
JUMP CUEBID: ASKS STOPPER 2 | ENC PR PR 1MAJ. — 3NT/4C/4D = C/D/Other maj. Sing. 12/14 hcp

3. | PR 2 CL = If Balanced 22+ Hcp. OR 15+ Unbalanced hand

AGAINST WEAK AND STRONG NT NT 1 | ENC COUNT STD 2Di = Multy (Weak any Maj 5+ Card 4/11; OR 18/20 bal.
MULTI LANDY > | COUNT PREE PR 2H/2Sp = 4/11 hcp. Maj. + Mindr May be 5/4
DBL= 5+ CARD MIN. + 4 CARD MAJ. 3. | PR 3 NT = SOLID MINOR
2C=MAI.’S Signals against trump and the others 4C/D = 6+ C/D + 5 Card H (12/15 HCP)
2D = ANY MAJ.;  2H/SP = 5+ MAJ + 4+ MIN. COUNT + ENC. + PREFERENCE 4H/SP = 7-8 TRICKS

2NT = MINOR’S OR STRONG 2 SUITER HAND.

4TH: LANDY

4ANT = ASK ACE WITH SUIT > 5C = No ace, 5NT=ace of C

AGAINST PREEMPTIVE OPENINGS

DOUBLES

5H/SP = ASK H/SP HONOR (Pass = No honor)

NATURAL

TAKE OUT DOUBLES

5 NT = ASK C/D HONOR (6 C/D= NO HONOR)

13+ OVER 2 OPENINGS; REVERS LEBSHL (9+ HCP)

NEGATIVE UP TO 5 SPADES

OTHER FORCING PASS SITUATIONS

8+ WITH UNBAL,; 12+ BAL.

AGAINST ARTIFICIAL OR STRONG OPENINGS

PASS = FORC. (IF OPPONENTS ARE BIDDING AFTER
OUR GAME BID)

OVER 1CL /2CL OPENING ----- SUCTION

1CL (OPP) — INT = CL'S OR D+H (5/4+ CARD)

OVER OPPONENTS TAKE OUT DOUBLE

SPECIAL, ARTIFICIAL AND COMPETITIVE DOUBLES

OTHER SPECIAL AGREEMENTS

RDBL = 9+ HCP

RESPONSIVE ,COMPETITIVE, DBL

3 RD POSITION OPENINGS MAYBE WEAK.

AFTER MAJ OPENING: TRANSFER OVER DBL

MAX. OVERCALL DBL

AFTER OPPONENTS DOUBLE AT 1 LEVEL PASS

1MAJ - (DBL) - 2MAJ = NO HONOR (4/8 HCP)

OPTIONAL DBL

SHOWS GENERALLY AT LEAST 3 CARD SUPPORT

1H — (DBL)- 2D = 3+ CARD FIT + HONOR (4/8 HCP)

RDBL AT 1 LEVEL =9+ HCP

PSYCHCS

RARE
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1CL 3 | BSP | 10-21 HCP NATURAL, 2CL= (INVERTED 10+ Hcp) CHECKBACK 1CL - (INT) — 2CL = BOTH MAJS.
MAYBE 5 CARD SP (IF 5-5) 1CL-INT = 8+/10 HCP (NO MAJ.) 1CL-1D/H/S=Nat (May be 3) MAYBE 5/4 CARD
1D 3 | 5SP | 10-20 HCP; NATURAL, 2CL= (INVERTED 10+ Hcp) CHECKBACK 1D — INT (OPPS) — 2Dl = BOTH
1D-1INT = 6/10 HCP (NO 4 CARD MAJ) 1D — P- 1X- P- 5CL = 5D+6C MAJS. MAYBE 5/4 CARD
14/15 HCP
1H 5 | 5SP | 10-21 HCP; 2NT = JACOBY (4+ CARD SUPPORT 1H-3S=10-12 ANY SHORT. DRURY = 3 CARD SUPPORT
1H-1INT (SF) = MAX. 12 HCP | 14+ ANY SING OR 17+ BALANCED) 1H-3C=6/10 OR 12/14 BAL. 3CL/3DI = BERGEN
1H-3NT=SHORT C, 12-14 1H-3D=10/12 OR 15/16 BAL 1H - 2C (DRURY) - 2D = 11+ HCP
4C =SHORT D, 12-14
4D = SHORT OTHER MAJ, 12/14
1SP 5 |5H | 10-21 HCP SAME AS 1 H OPENING 1S-3H=10-12 ANY SHORT. 1SP-INT/2X-4H =11/13HCP5S+6 H
1S-INT (SF) = MAX. 12 HCP
INT 5SP | 14+/18 HCP; MAY HAVE 5 2CL= MAY NOT HAVE 4 CARD MAJ. 2D - 2H - 2S5 =5+H , 4S Invite 4 WAY TRANSFER
CARD MAJ. INT —2CL-2D - 2H =TO PLAY 2H -2S — 3H = 5+S, 4H Invite INT - 2SP/2NT= C/D’S
INT- 2CL- 2D — 2SP = NOT FORC. INT- 3C = BOTH MINORS (WEAK)
INT- 3D = BOTH MINORS (10+ HCP)
2CL X 5SP 22+ BAL. OR 15+ UNBAL | 2C- 2D-2H- 2SP- 2NT= 25/26 2C-2D —2H - 2SP - 3X=5H+4X | 2C - 2H/SSP =HH 5 Card; 3x=HH 6
IF UNBAL = 8,5/9 TRICKS 3NT =27/28 2C— 2D- 2H/2SP -3X = 2nd Neg Card; 4x = HH 7 Card
2CL - 2D = WAITING 4ANT = 31/32 2C — 2D — 2NT = 22+/24 Hcep 2CL - 2D —3H/SP =4 MAJ+ 6 D
2C-2D-2SP-2NT-3NT = 29/30 2C — 2D — 3NT = 5D+4C 21/22
2D X 5SP Multi 4/11 HP 6card M 2D - 2NT = IF 33 MAJ. MAYBE 7/8 HCP 2D — 3C/3D = NON forcing IF OPPONENTS DOUBLE > RDBL =
OR 18/20 Bal 2D —3H = 7/9 HCP 4+4 Maj 2D —4H/4AS =TO PLAY ASKS PARTNER TO BID HIS
2D — 4D = 10/11 HCP 4+4 Maj 2D - 3S = NAT. INV SUIT,REST IS NATURAL TO PLAY
2D - 4C = 12/14 HCP 4+4 Maj
2H / 2SP 4/11 HCP 5 MAJ / 4+MINOR 3CL/4CL/5CL/6CL = P/C 2M-2NT-3C/3D-3M =To play; | OPENER'S REBDS TO 2NT ASK:
3D = NAT SEMI-F (WITH FIT) 30/M = Major fit, asks cue-bid 3H= GOOD HAND WITH CL GF
3SP = GOOD HAND WITH D GF
2NT 20/22 NATURAL 3C: Puppet, 3D/H: Xfers After 3S-3NT 4C/D: Minors
3S:Xfer to 3NT, 3NT:5S+4H 4H: 6+C, 4S: 6+D
3X 6 WEAK NEW SUIT = FORCING
3NT X SOLID MINOR 7+cards 4C/5C/6C = PASS/CORRECT 4ANT = IF 8 CARD OPENING
4D = ASK SING XFER AT 6 LEVEL
4CL/AD 6 Minor + 5H 14/15 HCP High level bidding
ANT X ASK SPECIFIC ACE 5C: No ace 5NT: ClubA, 6: 2Aces RKCB 1403; JOSEPHINE 5 NT (0,1,2); DOPI-ROPI,
5H/SP 5 ASK HONOR OF BID MAJ PASS/5SP = NO MAJ ACE OR KING VOIDWOOD RESPONSES=0, 1, 1+Q, 2, 2+Q
5NT 5 ASK ANY MINOR ACE OR 6C/D = NO HONOR MINORWOOD
KING




